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2. ANABC #1,cos (B — C) + cosA + cos2A = 1 KU b.a . % H 3.

3.y =f(x) A—REE . & (8 =15.H f(2).f(5).fA4) WEHLEKH,KS, =) +
f(2) 4 oo 4 fu).

4. 3885 a.) F.a, = 1.5.., = da, + 2.(1) KiE b, = a,-, — 2a, B (6.} BEH¥
315 (2) K {a.) #ETLAR.

NG
FAAF HLRFURT » WA AR AER ¢ REFT LWRAWE RKET ¢ =15q¢+
1 PP o0 80 £ /95 5L itie.
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6.3 FibHIN(H)

— . EEFR
1. %%Hf‘] {a.} ﬂ]%”f&ﬂlﬁq {[)-} 6@ %EIE&-??aI = ba s, = bz.ﬂ .ﬂ[l] Ayiq -—"3— b.-: é‘]
KIPhKER ' g gl )
(Adayy > b0y (Bla,—y = b, (Clay—y L ibini (Ma,_y < by
2. HHHF P a, +a, = 18.a; + a5 = 12,0 S, = € )
(A)510 B 22 (©)512 510 3252
3.8 =S, K= AABC . AABC, =i ¥ AAB,Cy oo IR K HE.
M4 AABC, BT RS . «
S S @ S
(A)? (B) e © 5 D) 7=
4. 34+ 2)+ (3 +3-2+2°) + - +<3 + 3 e 243 P28 +2) T ( )
n—1
n+1 a1 A ; ¢ o (N l
(A3 42 ¢RY 2 ; 2 -
n+2
© 3 — gt % (D)3—1 — !
= M

1. % a, = 3"+ 32 + 3. ne N, S, =

2. BHHIH .S 100 = 48.Sg = 600 Sy =

3. W {a, )  H AR 0, F AR R H ey = by aa; —fu a; = by 20, F Y ay,
A [E] () 701 2 :

4. ¥} on AR va, = 50+ 132 n RO e, = 270 S,, =
=&

1.2 —6x+8=0Ff12" —bx +c= 0PI HESLL 1 NPT AT S HF 3R 6 fl c.

2. W tgastgY . teh rw;u.wu.,j{,;[““ Ty = _tg“:g; 2}
3. 42 REAABC #1,CD 41301 AB 1575 5inB — L2 i S aco oS acwn B S wmne B

2
F I

4. %L HEF|H S, = A.S,, = B.S, = C.RiE A* + B* = A(B + O).

INGE

% M EFWHITEAEH G MR P R R ERENRESES
P, et BB = AT R B S A AR W BB =M R = A Ak 180°. 1
BOEM RIUEM W RE T R R A AT RS AR A W R R A R
P AT R RS,
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